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ZDHRBEY AR E
5.928 (t)
14,235 (Mcal)

ZDHEREY RS
1.180 (1)

ASR AL =
0.687 (t)
4,680 (Mcal)

ASR K%
0.313 (t)
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R2FFEKETIAT—JADASRE AR /EHE

\

ERAR
> 1.528 (t-ASRE[#4%) =
5.381 (t) X
1,934 Mcal/t -
5516 (Mcal) + 6,812 Mcal/t-ASRA[ A% =
4,156 (Mcal) + 1.528 (t-ASREI¥A%3)
(58) (Mcal) +
107 (Mcal) +
0 (Mcal) + A 255 FAREAS L (mix)E Bk E
1,135 (Mcal) + S 0.033 (t-ASRE[#AH)
0 (Mcal) + R L) 1.118 (t) X n
0 (Mcal) + ) 200 Mcal/t -
786 (Mcal) + + 6,812 Mcal/t-ASRE[ %> =
0 (Mcal) + S 0.033 (t-ASRE[#.H)
4,680 (Mcal) + 9
2,594 (Mcal) )+ %
6,812 (Mcal/t-ASRA[#A5) = )i
2777 (t-ASRE#S) %
239 >
1.096 (t)
+ BEE
0.146 (t) + > 0.034 (t)
0.425 (t) +
0.008 (t) + _, |BmAS L (mix)
0.000 (t) + 0.022 (t)
0.007 (t) +
0012 () + ||| [ERKEEED
0.000 (t) + 0.257 (t)
0.000 (t) +
0.000 (t) i
0313 (t) +
0.000 (t) =
1493 (t)
BARRSE 2777 (t-ASRA[#E4Y) EURTHILE— 1.560 (t-ASRAT{#&%)
+H ARG 1.493 (1) +EIRT T T IV 1.409 (t)
BAET 4.269 (1) Bl ET 2.969 (t)
[EIURET 2969 (t)
— BAG 4.269 (t)
ASREBAMREAE  0.70
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